K2R A T RS
SFTETH208 (H)228 (k)

OSGRY—2=—h

%18 A Bk
1 3P fiBE - 45 ok (B — — T R - KR B GEER) 25
2 SFE AR - SRR A Em) —— — Ve R - PRh 29 (FEFE) 26
3 AT - HH R (HR) — — AN BRI - 1R & w27
4 R B - A et GEOPD) — — PR A - IR A (B 28
5 BB - KT (B —_ A EVRE - R sk (BJF) 29
6 $AAR THE - BRI KR () —_— —————— RE R - e AR GRS 30
7 AR S - WA FAE (s _ —— A - R oL awnspi 31
8 B M - AR R i —— —— ORI RS - R RE () 32
9 fok #iZe - B &N GHEAR) S ——  RFE - Lo s (BJR) 33
10 7&Kk B - )1 A (P — — S AL - RE B (B 34
11 $E3R W - N MR s — — O At - R B e 35
12 4:1% #f - ek mas (RR) _— — EARRE - JF Mk (T 36
13 BFF 3825 - (VR KK o) —— —— MR AR - BT (MR 37
14 ZH I&F - gk i GRE — — T BEE - WEE R OBR) 38
15 & BEE - ik BE (EF) — — A B - s B ORR) 39
16 RA%F WE - HA R e — — ] BEIA - [lRF S i 40
17 g M B - 2 W () S —  PrPN K - BID RHE (BHR) 41
18 # T =ik + /N 45K (GHAR) e ——————— KA SR - KPR RRER CBTR) 42
19 # 2K - /hH R4 (B EEm— ——— &M EH - SR R @i 43
20 B AR - P HE (RFE) — — Bl - A R O\4) 44
21 FBA 3+ - WA REIK i) — — iR AT - #N KA (IRRR) 45
22 AR - &R B OER) — ——  H Bk - R B emEn 46
23 (R £46 - L EE (T — — R - AREE BE () 47

24 K H1- - W #5k (FiE) _ — A A - BRI e (D) 48



